

INFINITE MATRICES AND TENSORIAL TRANSFORMATIONS

MANJUL GUPTA and P.K. KAMTHAN

Indian Institute of Technology

1. Introduction: In recent years there has emerged a great deal of interest in the study of infinite matrix transformations from sequence spaces to sequence spaces. Various infinite matrices have been constructed to transform one sequence space into another, for instance one may refer to [6] and [7] and numerous references cited therein. We consider here several classes of these transformations and initiate the attempt of exploring the basic inner structure of these collections after equipping them with suitable natural locally convex topologies. One of the important outcome of our investigations is the representation theorem of these infinite matrix transformations, carried on with the help of weak topology. The last section is concerned with the precise form of tensorial transformations acting on a given collection of infinite matrices into another; for such classical ideas connected with the summability, one may refer to Cooke [1].

2. Notations and Terminology: An infinite matrix shall be denoted by $a = (a_{mn})$:

$$a = \begin{pmatrix} \overset{\nearrow}{a_{00}} & \overset{\nearrow}{a_{01}} & \overset{\nearrow}{a_{02}} & \dots & a_{0n} & \dots \\ a_{10} & a_{11} & \dots & & a_{1n} & \dots \\ a_{20} & a_{21} & & & & \\ \vdots & \vdots & & & & \\ a_{m0} & a_{m1} & \dots & & a_{mn} & \dots \\ \dots & \dots & \dots & & \dots & \\ \dots & \dots & \dots & & \dots & \end{pmatrix}$$

where a_{mn} s belong to the field K of scalars. Denote by N the set of all non-negative integers and by e^{mn} ($m, n \in N$) an infinite matrix whose element at the cross of m -th row and n -th column is one and other elements are zeros. Let Ω

be the family of all infinite matrices endowed with usual operations of pointwise addition and scalar multiplication. Thus Ω is a vector space over \mathbb{K} . By a *matrix space* Δ we mean any subspace of Ω . The matrix space generated by $\{e^{mn} : m, n \in \mathbb{N}\}$ shall be denoted by Φ . If $N \in \mathbb{N}$ and $a \in \Omega$, we define

$$a^N = \sum_{0 < m+n < N} \sum a_{mn} e^{mn}$$

and call it as the N -th *plane section* of the matrix a .

For a matrix space Δ , we define $\Delta^{\#}$ by

$$\Delta^{\#} = \{ b = (b_{mn}) : b \in \Omega \text{ with } \sum \sum |a_{mn} b_{mn}| < \infty, \forall a \in \Delta \}$$

where

$$\sum \sum a_{mn} b_{mn} = \lim_{N \rightarrow \infty} \sum_{0 < m+n < N} \sum a_{mn} b_{mn},$$

and term it as the K -dual of Δ . Clearly $\Delta^{\#}$ is a vector space over \mathbb{K} and contains Φ . In the rest of this paper we assume that each matrix space Δ contains Φ .

Under this assumption, Δ and $\Delta^{\#}$ form a dual system which we express as $(\Delta, \Delta^{\#})$. Hence, we may talk about the weak topology $\sigma(\Delta, \Delta^{\#})$, the Mackey topology $\tau(\Delta, \Delta^{\#})$, the strong topology $\beta(\Delta, \Delta^{\#})$ etc. Observe that $\sigma(\Delta, \Delta^{\#})$ is generated by the family $\{p_b : b \in \Delta^{\#}\}$ of semi-norms on Δ , where

$$p_b(a) = \left| \sum \sum a_{mn} b_{mn} \right|.$$

We also have a natural locally convex topology on Δ called the K -th *normal topology*. This is denoted by $\eta(\Delta, \Delta^{\#})$ and is generated by the family $\{q_b : b \in \Delta^{\#}\}$ of semi-norms on Δ , where

$$q_b(a) = \sum \sum |a_{mn} b_{mn}|.$$

Let us note that all the topologies on Δ discussed above are Hausdorff. Similarly, we may talk about such topologies on $\Delta^{\#}$ by interchanging the roles of Δ and $\Delta^{\#}$.

3. The Role of e^{mn} : We begin from

Proposition 3.1: For any $a \in \Delta$,

$$\sigma(\Delta, \Delta^{\#})\text{-}\lim_{N \rightarrow \infty} a^N = a;$$

moreover, the transformations $e^{mn} : \Delta \rightarrow \mathbb{K}$, given by $e^{mn}(a) = a_{mn}$ are continuous on $(\Delta, \sigma(\Delta, \Delta^{\#}))$ for all $m, n \in \mathbb{N}$.

Proof: For any $b \in \Delta^{\#}$,

$$p_b(a - a^N) = p_b((a_{mn} : m+n > N))$$

where $(a_{mn} : m+n > N)$ is an infinite matrix whose all coefficients a_{mn} are zeros provided $0 \leq m+n \leq N$. Thus

$$p_b(a - a^N) = \left| \sum_{m+n > N} \sum a_{mn} b_{mn} \right| \rightarrow 0 \text{ as } N \rightarrow \infty.$$

Thus we get the first part. For the second part, let us observe that for $a \in \Delta$,

$$|e^{mn}(a)| = |a_{mn}| = p_{e^{mn}}(a).$$

Corollary 3.2: The pair $\{e^{mn}; e^{mn}\}$ is a Schauder base for $(\Delta, \sigma(\Delta, \Delta^{\#}))$.

Remark: In Proposition 3.1 (and hence also in Corollary 3.2) the topology $\sigma(\Delta, \Delta^{\#})$ can be replaced by $\eta(\Delta, \Delta^{\#})$.

K-normal and K-perfect matrix spaces: A matrix space is called *K-normal* provided $a=(a_{mn}) \in \Delta$ whenever $|a_{mn}| \leq |b_{mn}|$ for $m+n \geq 0$, for some $b=(b_{mn}) \in \Delta$. Clearly $\Delta^{\#}$ is *K-normal* for any matrix space Δ . A matrix space Δ is said to be *K-perfect*, if $\Delta = \Delta^{\#\#} = (\Delta^{\#})^{\#}$; observe that $\Delta \subset \Delta^{\#\#}$ is always true. Let us introduce the following matrix spaces:

$$C = \{a : a \in \Omega, \lim_{m+n \rightarrow \infty} a_{mn} \text{ exists}\};$$

$$C_{oo} = \{a : a \in \Omega, a_{mn} \rightarrow 0 \text{ as } m+n \rightarrow \infty\}$$

$$l_{pp} = \{a : a \in \Omega, \sum \sum |a_{mn}|^p < \infty, 0 < p < \infty\};$$

$$l_{\infty\infty} = \{a : a \in \Omega, \sup_{m, n \geq 0} |a_{mn}| < \infty\}.$$

For $1 \leq p < \infty$, equip l_{pp} with the norm

$$\|a\|_{pp} = \{\sum \sum |a_{mn}|^p\}^{1/p}$$

and for $p = \infty$, equip $l_{\infty\infty}$ with the norm $\|a\|_{\infty\infty}$, where

$$\|a\|_{\infty\infty} = \sup_{m, n \geq 0} |a_{mn}|.$$

The spaces C and C_{oo} are equipped with the norms inherited from $\|\cdot\|_{\infty\infty}$. Unless otherwise stated, the matrix spaces discussed above, are endowed with these norms with respect to which they are complete. It is not difficult to verify that

$$C_{oo}^{\#} = C^{\#} = l_{11}; \quad l_{11}^{\#} = l_{\infty\infty}, \quad l_{\infty\infty}^{\#} = l_{11};$$

$$l_{pp}^{\#} = l_{qq} \left(1 < p < \infty, \frac{1}{p} + \frac{1}{q} = 1\right).$$

Thus

$$l_{pp} (1 \leq p \leq \infty) \text{ is } K\text{-perfect.}$$

In the sequel we also need the following two spaces

$$\delta = \{a : a \in \Omega, |a_{mn}|^{\frac{1}{m+n}} \rightarrow 0 \text{ as } m+n \rightarrow \infty\};$$

$$d = \{a : a \in \Omega, \limsup_{m+n \rightarrow \infty} |a_{mn}|^{\frac{1}{m+n}} < \infty\},$$

and endow these spaces with the total paranorm topology given by $\|a\| = \sup \{|\alpha_{oo}|; |a_{mn}|^{\frac{1}{m+n}}, m+n > 0\}$ where $a \in \delta$ or d . The space δ can be then regarded

as the space of entire functions of two complex variables [2] equipped with the topology of uniform convergence on compact sets in $\mathbf{C} \times \mathbf{C}$, where \mathbf{C} is the complex plane (cf. [3]). These spaces are known to be Fréchet spaces.

Proposition 3.3: We have $\delta^{\#} = d$ and $d^{\#} = \delta$. Thus δ and d are K -perfect.

Proof: We prove only $\delta^{\#} = d$; the proof of $d^{\#} = \delta$ is similar. Now observe that $d \subset \delta^{\#}$ is obvious. For $\delta^{\#} \subset d$, we follow ([2] Lemma 2.1) with minor modifications. Indeed, let $a \in \delta^{\#}$ and $a \notin d$. For each integer $i \geq 1$ there exist sequences $\{m_i\}$ and $\{n_i\}$ (at least one of which tends to infinity with i) such that

$$|a_{m_i n_i}| > i^{2(m_i + n_i)}.$$

Define the matrix b by

$$b_{mn} = \begin{cases} i^{-m_i - n_i}; & m = m_i, n = n_i, \\ 0 & \text{otherwise.} \end{cases}$$

Then $b \in \delta$. However

$$\sum \sum |a_{mn} b_{mn}| = \infty,$$

and so $a \notin \delta^{\#}$, a contradiction. This proves the result.

The matrix e^{mn} and associated operators: The importance of the matrices e^{mn} 's does not lie only in representing the elements of a matrix space Δ in which they are present; but is also exhibited in obtaining the information concerning the structures of Δ and $\Delta^{\#}$. Let us recall that a sequence $\{x_n\}$ of elements in a locally convex space (X, \mathcal{F}) is called *regular* (resp. *bounded*) if for some continuous semi-norm p (resp. for every continuous semi-norm p) we have a constant $M \equiv M(p) > 0$ with $p(x_n) \geq M$ (resp. $p(x_n) \leq M$) for all n . We prove

Proposition 3.4: (i) $\{e^{mn}\}$ is $\sigma(\Delta, \Delta^{\#})$ -bounded if and only if $\Delta^{\#} \subset l_{\infty}$; (ii) $\Delta \subset l_{\infty}$ if and only if $\{e^{mn}\}$ is $\sigma(\Delta^{\#}, \Delta)$ -bounded; and (iii) $\{e^{mn}\}$ is $\sigma(\Delta, \Delta^{\#})$ -regular if and only if $l_{\infty} \subset \Delta^{\#}$.

Proof: (i) and (ii) are straightforward and their proofs are, therefore, omitted. To prove (iii) assume that $\{e^{mn}\}$ is regular. Let $y \in l_{\infty}$ and $x \in \Delta$ be arbitrary. Now there exist $z = \{z_{ij}\} \in \Delta^{\#}$ and $\alpha > 0$ with $p_z(e^{mn}) \geq \alpha$. Therefore

$$\sum \sum |y_{ji} x_{ji}| \leq \frac{M}{\alpha} \sum \sum |x_{ji} z_{ji}| < \infty$$

and so $y \in \Delta^{\#}$. The other part is obvious.

Now consider the dual system $\langle \Delta, \Delta^{\#} \rangle$. For any integer $N \geq 0$, define

$S_N: \Delta \rightarrow \Delta$ by

$$S_N(x) = \sum_{0 \leq m+n \leq N} x_{mn} e^{mn} = x^N.$$

Clearly each S_N is an $\eta(\Delta, \Delta^{\#}) - \eta(\Delta, \Delta^{\#})$ or a $\sigma(\Delta, \Delta^{\#}) - \sigma(\Delta, \Delta^{\#})$ continuous linear operator. Indeed,

$$p_y(S_N(x)) = p_y N(x); \quad q_y(S_N(x)) = q_y N(x),$$

where $y \in \Delta^{\#}$ and $x \in \Delta$. It is natural to investigate the equicontinuity of $\{S_N : N \geq 0\}$. In this direction we have

Theorem 3.5: *The sequence $\{S_N : N \geq 0\}$ is $\sigma(\Delta; \Delta^{\#})$ -equicontinuous on Δ if and only if $\Delta^{\#} = \Phi$.*

Proof. If $\Delta^{\#} = \Phi$, the set $\{S_N : N \geq 0\}$ is obviously $\sigma(\Delta, \Delta^{\#})$ -equicontinuous on Δ . For converse, consider $y \in \Delta^{\#}$.

Then the sequence $\{y \circ S_N : N \geq 0\}$ of functionals on Δ is $\sigma(\Delta, \Delta^{\#})$ -equicontinuous. Therefore $\{y \circ S_N : N \geq 0\}$ is finite dimensional (cf. Proposition 7.9, p. 24 [4] or [5], p. 161). Hence there exist integers k_1, k_2, \dots, k_p with $0 \leq k_1 \leq k_2 \leq \dots \leq k_p$ such that $\{y \circ S_{k_1}, y \circ S_{k_2}, \dots, y \circ S_{k_p}\}$ is linearly independent and $\{y \circ S_N : N \geq 0\} = \text{sp}\{y \circ S_{k_1}, \dots, y \circ S_{k_p}\}$. Thus for $x \in \Delta$,

$$(y \circ S_N)(x) = \sum_{i=1}^p \alpha_i^N (y \circ S_{k_i})(x)$$

$$\text{or, } y(x^{(N)}) = \sum_{i=1}^p \alpha_i^N y(x^{k_i}).$$

Hence, on replacing x by e^{mn} 's for $m+n > k_p$, we find $y_{mn} = 0$, for $m+n > k_p$. Thus $y \in \Phi$ and the result follows.

4. Tensorial Transformations: In this section we consider transformations resulting from a tensor of order four, which relate various matrix spaces. Indeed, if $g = \delta_{mn}^{pq}$ is a tensor of order four having values in the field of scalars for fixed pair of integers p, q and m, n , we assume that its multiplication with any preassigned matrix $b = (b_{pq})$, is defined for all indices $m, n \geq 0$, namely

$$g \cdot b = \sum_{p+q \geq 0} \sum_{m,n \geq 0} \delta_{mn}^{pq} b_{pq} = a_{mn}, \text{ say} \quad (4.1)$$

is well defined for all $m, n \geq 0$. In the following result we impose conditions on the tensor g so that it becomes a tensorial transformation from the matrix space δ to the matrix space C .

Theorem 4.2: *Suppose (4.1) is true for each $b \in \delta$. Then $a = (a_{mn}) \in C$ if and only if there exists a constant $M > 0$ such that*

$$|\delta_{mn}^{00}|, |\delta_{mn}^{pq}|^{p+q} \leq M, \text{ for all } m, n; p, q \in \mathbf{N}. \quad (4.3)$$

and

$$\lim_{m+n \rightarrow \infty} \delta_{mn}^{pq} = d_{pq} \text{ exists for every } p, q \geq 0 \quad (4.4)$$

Proof: The proof of the sufficiency part is straightforward and is therefore omitted.

For converse, let $a \in C$ where $a = (a_{mn})$ is given by (4.1). For $b \in \delta$, define the matrix $f = (f_{mn})$ of functionals by

$$f_{mn}(b) = a_{mn} = \sum_{p+q \geq 0} \sum \delta_{mn}^{pq} b_{pq}.$$

Since the set $\{|\delta_{mn}^{oo}, |\delta_{mn}^{pq}|^{\frac{1}{p+q}}, p+q \geq 1\}$ is bounded for fixed pair of integers m, n ; it follows that the functionals f_{mn} s are continuous (cf. [2], p. 15). Moreover, these functionals are pointwise bounded. Therefore by uniform boundedness principle, there exists a ball $B_\varepsilon(z)$ such that for all $b \in B_\varepsilon(z)$

$$|f_{mn}(b)| \leq M, \text{ for all } m, n \geq 0,$$

where M is a constant $\geq 1 \Rightarrow |f_{mn}(b)| \leq M$ for all $m, n \geq 0$ and all b with $b \parallel \leq \varepsilon$. Choosing b to be the matrices b^{pq} for $p+q \geq 0$ respectively where $b^{pq} = (\varepsilon_{ij})$,

$$\varepsilon_{ij} = \begin{cases} \varepsilon^{p+q}, & i = p, j = q; \\ 0, & \text{otherwise,} \end{cases}$$

when $p+q > 0$ and $b^{oo} = (\varepsilon_{ij})$, $\varepsilon_{oo} = \varepsilon$, $\varepsilon_{ij} = 0$, $i+j \geq 1$, we obtain

$$|\delta_{mn}^{oo}| \varepsilon \leq M \text{ for all } m, n \geq 0, \text{ and}$$

$$|\delta_{mn}^{pq}| \varepsilon^{p+q} \leq M, \text{ for all } m, n \geq 0 \text{ and } p+q \geq 1. \text{ Thus}$$

$$|\delta_{mn}^{oo}| \leq \frac{M}{\varepsilon}, \quad |\delta_{mn}^{pq}|^{\frac{1}{p+q}} \leq \frac{M^{\frac{1}{p+q}}}{\varepsilon}, \text{ for } m+n \geq 0, \text{ and } p+q > 0.$$

Since $\frac{1}{M^{p+q}} \leq M$ for all $p+q > 0$ it follows that

$$|\delta_{mn}^{oo}|, |\delta_{mn}^{pq}|^{\frac{1}{p+q}} \leq \frac{M}{\varepsilon}, \text{ for all } m+n \geq 0 \text{ and } p+q > 0.$$

This proves (4.3) The condition (4.4) obviously follows.

Theorem 4.5: Let (4.1) be true for $b \in C_{oo}$. Then $a = (a_{mn}) \in \delta$ if and only if

$$\left\{ \sum_{p+q \geq 0} \sum |\delta_{mn}^{pq}| \right\}^{\frac{1}{m+n}} \rightarrow 0 \text{ as } m+n \rightarrow \infty. \quad (4.6)$$

Proof: The proof follows on the lines of the preceding result and is therefore omitted.

For proving the next result, we need

Proposition 4.7: If $A: l_{11} \rightarrow l_{11}$ is a linear transformation from l_{11} into itself defined by the relation (4.1), i.e. $A(b) = a = (a_{mn})$ where $b \in l_{11}$ and $a \in l_{11}$, then

$$\sup \left\{ \sum_{m+n \geq 0} \sum_{mn \geq 0} |\delta_{mn}^{pq}| : p+q \geq 0 \right\} \leq M \quad (4.8)$$

where $M = \|A\|$ (operator norm of A).

Proof: From the convergence of the series $\sum_{p+q \geq 0} \sum_{mn} \delta_{mn}^{pq} b_{pq}$ for each $b = (b_{pq}) \in l_{11}$, one can easily derive its absolute convergence which in turn, implies that $|\delta_{mn}^{pq}| \leq k_{mn}$ for all $p, q \geq 0$ where k_{mn} is a constant depending on m and n . Now A , being the pointwise limit of a pointwise bounded sequence $\{A_r : r \geq 1\}$ of continuous linear operators A_r 's from l_{11} to itself such that

$$A_r(b) = a = (a_{mn}), \text{ where } a_{mn} = \sum_{p+q \geq 0} \sum_{mn} \delta_{mn}^{pq} b_{pq}$$

for all m, n with $m+n \leq r$ and 0 otherwise, is continuous. Therefore A is bounded. Let $\|A\| = M$. Then for all p, q , the following inequality

$$\|A(e^{pq})\| \sum_{p+q \geq 0} \sum_{mn \geq 0} |\delta_{mn}^{pq}| \leq \|A\| = M,$$

gives the required result.

Theorem 4.9: Let (4.1) be true for $b \in l_{11}$. Then $a = (a_{mn}) \in \delta$, it and only if

$$|\delta_{mn}^{pq}|^{\frac{1}{m+n}} \rightarrow 0 \text{ as } m+n \rightarrow \infty, \quad (4.10)$$

uniformly in p and q .

Proof: Sufficiency follows by straightforward calculations. For necessity, assume that (4.10) is not true. Then for $\epsilon > 0$, and any $N \in \mathbb{N}$, there exist integers m, n and p, q such that $m+n > N$ and

$$|\delta_{mn}^{pq}|^{\frac{1}{m+n}} > \epsilon. \quad (4.11)$$

Since A maps l_{11} into δ , it follows A transforms l_{11} into itself and therefore $\sup \left\{ \sum_{m+n \geq 0} \sum_{mn \geq 0} |\delta_{mn}^{pq}| : p+q \geq 0 \right\} \leq M$, by the preceding result. Thus we write

$\omega_{mn} = \sup_{p+q \geq 0} |\delta_{mn}^{pq}|$, we can find a constant $K > 0$ such that

$$|\omega_{mn}| \leq \frac{K}{2}, \text{ for all } m, n \geq 0. \quad (4.12)$$

We also have

$$|\delta_{mn}^{pq}|^{\frac{1}{m+n}} \rightarrow 0 \text{ as } m+n \rightarrow \infty \text{ for each fixed } p \text{ and } q. \quad (4.13)$$

By (4.11) we can find m_1, n_1 and p_1, q_1 such that

$$|\delta_{m_1 n_1}^{p_1 q_1}|^{\frac{1}{m_1 n_1}} > \frac{\epsilon}{2} \quad (4.14)$$

Now from the relations (4.11) to (4.13), choose m_2, n_2 sufficiently large with $m_2 + n_2 > m_1 + n_1$ and p_2, q_2 with $p_2 + q_2 > p_1 + q_1$ such that

$$\left| \frac{K}{2^{m_2+n_2}} \right| < \left(\frac{\varepsilon}{8} \right)^{m_1+n_1}; \quad (4.15)$$

$$\left| \delta \frac{p_2 q_2}{m_2 n_2} \right|^{\frac{1}{m_2+n_2}} > \frac{\varepsilon}{2}; \quad (4.16)$$

and

$$\left| \delta \frac{p_1 q_1}{m_2 n_2} \right|^{\frac{1}{m_2+n_2}} < \frac{\varepsilon}{16}. \quad (4.17)$$

Proceeding in this way, we get sequences $\{m_k\}, \{n_k\}, \{p_k\}$ and $\{q_k\}$ with $m_k + n_k > m_{k-1} + n_{k-1}, p_k + q_k > p_{k-1} + q_{k-1}, k \geq 2$ such that

$$\left| \frac{K}{2^{m_k+n_k}} \right| < \left(\frac{\varepsilon}{8(k-1)} \right)^{m_{k-1}+n_{k-1}}; \quad (4.18)$$

$$\left| \delta \frac{p_k q_k}{m_k n_k} \right|^{\frac{1}{m_k+n_k}} > \frac{\varepsilon}{2}; \quad (4.19)$$

and

$$\left| \delta \frac{p_j q_j}{m_k n_k} \right|^{\frac{1}{m_k+n_k}} < \frac{\varepsilon}{8k}, \text{ where } 1 \leq j \leq k-1. \quad (4.20)$$

Let us now introduce the matrix $b = (b_{pq}) \in l_{II}$ as follows

$$b_{qp} = \begin{cases} \frac{1}{2^{m_k-n_k}}, & \text{when } p = p_k, q = q_k, k = 1, 2, \dots; \\ 0, & \text{otherwise.} \end{cases}$$

It is easily verified that $a = (a_{mn}) \notin \delta$ where

$$a_{mn} = \sum_{p+q \geq 0} \sum_{m,n} \delta^{pq} b_{pq}, \text{ for all } m, n \geq 0.$$

Indeed,

$$\begin{aligned} \left| a_{m_k n_k} \right|^{\frac{1}{m_k+n_k}} &\geq \frac{1}{2} \left| \delta \frac{p_k q_k}{m_k n_k} \right|^{\frac{1}{m_k+n_k}} - \left| \sum_{j < k} \delta \frac{p_j q_j}{m_k n_k} b_{p_j q_j} \right|^{\frac{1}{m_k+n_k}} \\ &\quad - \left| \sum_{j > k} \delta \frac{p_j q_j}{m_k n_k} b_{p_j q_j} \right|^{\frac{1}{m_k+n_k}} \\ &> \frac{\varepsilon}{4} - \frac{(k-1)\varepsilon}{8k} - \frac{\varepsilon}{8k} = \frac{\varepsilon}{8}, \end{aligned}$$

for all $k \geq 1$. Hence we arrive at a contradiction and the result follows.

On similar lines, we can prove the following result:

Theorem 4.21: Let (4.1) be true for $b \in l_{11}$. Then $a = (a_{mn}) \in d$ if and only if

$$\left| \delta_{mn}^{pq} \right|^{\frac{1}{m+n}} \leq M, \quad (4.22)$$

uniformly in p, q and m, n ; where M is a positive constant.

Received November 20th, 1978

REFERENCES

- [1] Cooke, R. G. *Infinite Matrices and Sequence Spaces*, Macmillan (1950).
- [2] Kamthan, P. K. *A study on the space of entire functions of several complex variables*, Yokohama Math. Jour., 21 (1973), 11-20.
- [3] Kamthan, P. K. and Gupta Manjul *Expansion of entire functions of several complex variables having finite growth*, Trans. Amer. Math. Soc., 192 (1974), 371 - 382.
- [4] _____ *Bases in Topological Vector Spaces and Kothe Sequence Spaces, Part I: A Preclude An EDC Project Publication*, I. I. T., Kanpur, June 1976. (To be published by Marcel Dekker, Inc., New York, 1978 - 79).
- [5] Kelley, J. L. and Namioka, I. *Linear Topological Spaces*, Van Nostrand (1963).
- [6] Roy T. Jacob, Jr. *Some matrix transformations on analytic sequence spaces*, Pacific Jour. Math. 59 (1975), 487-491.
- [7] _____ *Matrix transformations involving simple sequence spaces*, to appear in Pacific Jour. Math.